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‘Anyone uncircumcised may not eat it, and any strange son  — M
may not eat it’; he may not eat it, but he eats Matzoh and Moror

OVERVIEW

¥"9 maintains that it is not necessary for a P109 to teach us that a 7772 77w KXW
7RI are requires to eat 7¥» for they are not worse than (an 97¥ and) a 921 12 who
also does not eat the 1o and nevertheless is required to eat 7xn. Our NBOIN
discusses the necessity for a P10 to teach us the 1>7 of 7¥» nN%°2X by a 121 32

nooIn asks:
- 18 9IINY 29NY NOIWD NP 7PN INNN ‘901 N1nw 2993 13 %33 Nnvn

It is astounding! Why do we need a 02 by a 221 12, who is an apostate (121»),

that he is required to eat 77¥»; it is obvious that he is obligated to eat 773» -
= 119902 MININN MY Y53 29N NAT

For a 71 is obligated in all the n1x» which are written in the 790 —

mMooIN anticipates a possible solution:
= HDO2 NOUNT 2) DY N NNN DIIN 81T 1D ¥IWNP IN)

And if you will say that the P05 (of 12) teaches us that the "n is permitted to
eat 7x», even though he is prohibited from eating the nep 127p —

mooIN rejects this solution:

- Sha N AYITP N8N IONRT NOIYI ) XD
But this too is obvious, for does 17%» possess any holiness (-7217P) that may cause
us to think that he cannot eat it?! It is obvious than a 77 may eat 7%¥n. The question remains
why a P09 is necessary regarding 17X N2°OX by a M.

Mo0IN answers:
- N2YN AU MM NYIYI NOSN VAYIT XIYNY TPIVYINT 9D YN

n,20 (%2) mnw.
23,20 ow.
? See “Thinking it over’.
* See *"wn here 12 7"7 and on that PEd (footnote # 2) who states D°Pwaw TAXY PWyn M21Nw; one who does not
observe ¥"mn (and converted 5"9).
> The word 12 in the P09 of 12 %3X° X? 7131 72 95 teaches that 12 (in the 1o 1277) he is 218 1K, but he is 7¥1 PN.
% See 9" 'o1n that even a "3 may eat 7% (and certainly a ).
" The 1 n was among the 01» (those that were ‘counted’/included) in this 2"p.
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And one can say; that the 7w17 of 12 is necessary in a case where the nop 27p
was vrw: while he was a "2, and he did 772920 right afterwards® -

1999129 A8 919NY %a9n B1P17 Y91 T19310Y NIN YN PPNT AU D3N NYT 23 Yy N1
So even though the 7112 cannot eat from the 19 127p, since a 7o0o 127p is eaten
only to those who were ‘counted’ on it, nevertheless the 711 is obligated to eat
792 XN,

SUMMARY
A "™ who was a ™Min on a 9"p and did 72wn after the 1279p was AWl is
nevertheless 70X to eat from this 5", but is obligated to eat M1 AxH.

THINKING IT OVER

1. Is mpoIN question'' only regarding a W or is it regarding an 7y as well?'?

2. °"1 stated that without the P05 of nM1¥n 17o8n 17v2 we would have thought that a
X who cannot eat the 5"p, is not obligated to eat 7¥n. It is evident that without a
P05 there is a X120 that 7% nN°OX is dependent on 9"p n2°>X; what therefore is
MooIN question why we need a P09 to be 2°°11 a %M N°OKR2 MM, since the X120 is
that they are dependent on each other?!"

8 [Perhaps the reason Moo mentions 7wn "Wy, for otherwise the ¥ N%°38 211 is only theoretical, since he is a
qmn; however if 72wn nwy then the 7371 N%°OR 211 is indeed practical.]
? The 7 is not considered a ™Mn (see footnote # 7) since he is forbidden to eat from the 2"p.
12 See XMW 727 who explains Moo question and answer in this manner. Moo knew that 7¥» N9 can be
dependent on 1Moo n7°3X (see “Thinking it over’ # 2.). However, mo01n maintains that there is a 21 for the 121 to
(do m2wn and) bring the 5"p, therefore there is the 2117 to eat ¥ (perhaps even if he does not do 72Wwn, since he is
21 in the 5"p). MBI answers that since NO57 NV MY NYW2A he was a M and is not ™I 1, sO now it is not
possible for him to eat the oo (just like an 77v), therefore (since 7% N7°3X is "7 on 0D N7°3X) he should be exempt
from 71¥n n9°oX. The word 12 teaches that nevertheless he is 787 n9X2 2707, ¥"8¥1. [N190IN mentions a case where
the 71 was 711217 1 (even though seemingly N1901N can mention a case where he did not bring the noo) because the
7710 wants to teach us (primarily) that the 92 cannot eat the 1o even if he is from the 1»; the 7w27 of 12 teaches
that (even) in this case he still must eat the f%¥n.]
1 See footnote # 3.
"2 See LXMWY 727.
13 See nnx now (and footnote # 10).
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